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	Biến đổi biểu thức ở vế trái :
VT = 
[image: image9.wmf]4a1a1

1.

a

a2a2

-+

--

+-

æö

æö

ç÷

ç÷

èø

èø

 = 
[image: image10.wmf](

)

(

)

(

)

(

)

(

)

(

)

a1a2a1a2

a4

.

a

a2a2

---++

-

-+



	0,25

	= 
[image: image11.wmf](

)

(

)

a3a2a3a2

a4

.

aa4

-+-++

-

-

 = 
[image: image12.wmf]6a6

a

a

--

=

.= VP

Vậy VT=VP( đpcm)
	0,25


_1549869871.unknown

_1549872371.unknown

_1549872372.unknown

_1549872369.unknown

_1549872370.unknown

_1549869872.unknown

_1549872368.unknown

_1549710590.unknown

_1549710691.unknown

_1549710690.unknown

_1549444633.unknown

_1276017873.unknown

